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Two resistances of 5-0 Q and 7-0 Q

are connected in series and the combi- P
nation is connected in parallel with a -

: : (N TN =
resistance of 36:0 2. The equivalent 2.
resistance of the combination of three
resistors 1s [

(a) 24-0 Q —/MW\— -
360
(b) 12-0 Q
(c) 9:0Q N
'ef Ryt Ry 1., (fmd)
(d) 6:0 Q g

RA36 - WMx3e”

- Ly
, % .. (/amlld) 1943 /q,(/

®



NDA & CDS 1 2025 - REVISION - PHYSICS

Two resistances of 5-0 Q and 7-0 Q
are connected in series and the combi-
nation i1s connected in parallel with a
resistance of 36:0 ). The equivalent
resistance of the combination of three
resistors 1s

EXAMS

(a) 24-0 Q2
(b) 12-0 Q
(c) 9080

d 60 Q

ANS : C
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Lightming 1s due to

(a) The flow of charges between
different parts of the cloud

(b) The short-circuiting of charges
between the upper and lower
surfaces of the cloud

(c) The collection of positively

"~ charged particles on the base and
collection of negatively charged
particles at the top of the cloud

(d) The induction of positive charge
on the ground below the negative
charge at the base of the cloud

==
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Lightming 1s due to

(a) The flow of charges between
different parts of the cloud

(b) The short-circuiting of charges
between the upper and lower
surfaces of the cloud

(c) The collection of positively

"~ charged particles on the base and
collection of negatively charged
particles at the top of the cloud

(d) The induction of positive charge
on the ground below the negative
charge at the base of the cloud

ANS : D

==

EXAMS
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In which one among the following
situations, the bulb (X) would glow the

most ? (Consider all batteries arc the
same)

(a) ©
R | @
il il
(b) (d)
&
R— X

Max. dlm > MaX. currenf

move V =7 movre [ (s) £ (c)
dre Yejeofea[)

(6) Sevis —  (d) /Dam//c/

j fﬁuim/enf
resisfonce ®
move 2 > dess Regretons /{

porollef /s legs

than Sev'd .-
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In which one among the following
situations, the bulb (X) would glow the

most ? (Consider all batteries arc the
same)

(a) ©

(b) (d)

ANS : D

==

EXAMS
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For an electric circuit given below, the
correct combination of voltage (V') and
current (/) is ‘

—Y 3A 9
® fooa, 00 € 300 ave Iy /MraI/b{,
/ 100Q g
- AW —> =

~200Q 1, v/ 4 Jom e V'Of‘foye i all Three.

300Q2

V= - 3 x/0p - 300V
(@) V=900V;I=18 A

(b) ¥=300V;I=55A
€ V=600V;I=1A
d V=300V I=2A

——

00

]2:_!_ 00 . /g 1= 3+M+1/]:85
R 300 = §5.5A

7 = _Y_, = Jdoo - I'SA
} F; =
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For an electric circuit given below, the
correct combination of voltage (¥) and
current (/) is ‘

—© 3A
(A
/ 100Q _
< ol
> AN >
20002

30022

(a) ¥=900V;I=18 A
(b) ¥=300V;I=55A
() V=600V;I=1A
d V=300V:I=2A

ANS : B

EXAMS
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An incandescent electric bulb converts 2

20% of its power consumption into fONeY = 1R

light, and the remaining power 1Is ( p )

dissipated as heat. The bulb’s filament - X 200 -

has a resistance of 200 Q and 2 A (2)* %200 = gpp 4
current flows through it. If the bulb

remains ON for 10 h and the rate of . _ £00 'y k R
electricity charge is ¥ 5/unit, then P (m k N) —_— &

which among the following is the {000
correct amount for the money spent on

producing light ? A0 z 9/‘ p
(a) TS5

& (/Dmcfucin(i lfdhf )

(c) X7

for ID-K eh =06 xlo = /6 I('NA
d) %8 /
uW _C/ Unit of emwr
[6 X< 5 =‘i!'

V)

L xpef = 016 kw
5\ I,

Commerc/al
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An incandescent electric bulb converts
20% of its power consumption into
light, and the remaining power is
dissipated as heat. The bulb’s filament
has a resistance of 200  and 2 A
current flows through it. If the bulb
remains ON for 10h and the rate of
electricity charge is ¥ 5/unit, then
which among the following is the
correct amount for the money spent on
producing light ?

(a) TS5
(b) 6
(c) X7
(d) T8

ANS : D
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The AC mains domestic supply current
in India changes direction in every

(@) 30s 50 Hz, <40V
(b) 30 s |

(c) 100 s fmf""’?‘

(d) 100

fime /Jerioa/ z -b-%— g

Tioe #ill AL = .-?L(' ;%s) -

-(——(-Séég) —
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EXAMS

The AC mains domestic supply current
in India changes direction in every

(@) 50s
(b) 30 s
(c) 100 s

@ 155 S

ANS : D
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Which one of the following is primarily
responsible for conduction of current in a

metal ?
(a) DBound electrons
(b) Free electrons

(e} Both bound and free electrons

(d) Tons

@8
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Which one of the following is primarily
responsible for conduction of current in a

metal 7

(a) DBound electrons
(b) Free electrons

(e} Both bound and free electrons

(d) Tons

ANS : B



NDA & CDS 1 2025 - REVISION - PHYSICS

An infinite combination of resistors,
having resistance R = 4 Q, is given beloy.
What is the net resistance between the points
A and B ? (Each resistance is of equal value,

R=4) X

Yy —
s/ 2 2z Z2grl.. o0

Bo

(a 0Q

b)) 2+2J5Q

© 2+J5Q

(d) Q

2 sev/ e
— W
A ] X
/bara//c/
8
X =R+ Rx
R+ X
K= 4+ 4x
4+ X

X+ X% = (6 + 4x+ 4X
Xt — X — 16 =D

EXAMS
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X“— #x _ 16 =0

o \[/6- 4 %X (N

{MNE)
X = 4 ¢ "N;_ - 4+ 35 /

q ™~ -afs = -n ("ﬂt /691112/1)
~
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An infinite combination of resistors,
having resistance R = 4 Q, is given beloy.
What is the net resistance between the points
A and B ? (Each resistance is of equal value,

R=4)
R ' R
A o—AANA AWWA
R R R R ........ oo
R R

Bo AN

(a) 0Q

b 2+2/5Q

© 2+J5Q

d «Q

Answer: (B)

==

EXAMS
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Consider the following electric circuit :

10Q — e g
>NV VW
00 e '
50 50 current Wil 1 x‘fmﬁf,f 7‘{,,.9'# b oo Tesistnce.
10Q v
A
o LAl ? = _f0 = 5\/0 ?—{/4 }
The current in the above electric circuit is : Q[u ;w,m/. f'5
(a) 1A

(b) (10/15) A
) 2A

d 15A
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Consider the following electric circuit :

5Q

—AMA—
10Q

—AMA—
0Q

— AW
5Q

10Q

10V

e

The current in the above electric circuit is :

(a) 1A

(b) (10/15) A

() 2A

d 15A

Answer: (A)

==

EXAMS
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EXAMS

What is the total resistance in the following

circuit element ?

RO .

R
(a) R/2
o ¥ U v egu] resitfors resitnce. 'R 4 are
(¢) 3R/2 2
o -
(d) 2R/3 —+ Connecfed 1 PGNIM = Rcz -

-

— tnnecfed W Sen'y 7 ¢ = DR

—
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®

EXAMS

What is the total resistance in the following

circuit element ?

R
—AMA—
A
L AAAAA R
R
(a) R/2
(b) 3R
(¢) 3R/2
(d) 2R/3

Answer: (C)
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The cost of energy to operate an
industrial refrigerator that consumes
5 kW power working 10 hours per day
for 30 days will be

(Given that the charge per kW.h of

energy = ¥ 4)
(a) ¥ 600
(b) ¥ 6,000
(c) ¥ 1,200

(d ¥ 1,500

o)
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EXAMS

The cost of energy to operate an
industrial refrigerator that consumes
5 kW power working 10 hours per day
for 30 days will be

(Given that the charge per kW.h of

energy = ¥ 4)
(a) ¥ 600
(b) ¥ 6,000
(c) ¥ 1,200

(d ¥ 1,500

Answer: (B)
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Consider the following part of an electric
circuit :
2 ohm

PN
> — AW > MNN——
e

The total electrical resistance in the given part
of the electric circuit is

15

(3) —8_ ohm
B X2 ohm
7

(c) 150hm

17
— ohm
(d) 3 0

==
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Consider the following part of an electric

circuit :

2 ohm
4 ohm 1 ohm

b WATAYA e o
8 ohm

The total electrical resistance in the given part
of the electric circuit is

(a) 18‘”-’ ohm
B X2 ohm
7
(¢) 15ohm
17

— ohm
(d) 3 )

Answer: (B)

==
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Consider the following c¢ircuit :

Rl 3R
/WM( -\ v':/\‘]—* .?

—0

A /\,. A A 15}
R
L 5
WY

Which one of the following is the
value of the resistance between points
A and B in the circuit given above?

(@) 2R

a —

5\
3

I - R

(b) 5

(c) —';ER

(d) 4R

EXAMS

For RI / Rz ;;)
fmlld/

= ;klkl _
R, 1Ry
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EXAMS

Consider the following circuit :

Which one of the following is the
value of the resistance between points
A and B in the circuit given above?

2
(a) 5

3
(b} gR

3
(c) 'Q-R
(d) 4R

Answer: (B)
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Which one of the following is the value
of 1kWh of energy converted into
joules 7

—

.8 x 106
(a) 1:8x10°J kw b T — Rl x tewmdls

®) 3-6x108] | T’H —

6-0 x 105)
© [000 W 9600 ¢

(d) 721087

= 3.6 x 08T

)




NDA & CDS 1 2025 - REVISION - PHYSICS

Which one of the following is the value
of 1kWh of energy converted into
joules 7

(a) 1-8x10°7
(b) 3-6x10°7
(c) 6:0x10°7
(d) 721067

Answer: (B)
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Which one of the following devices is
non-ohmic ?

(a) Conducting copper coil npf f9//mrrU ohm s ﬁm\)/
(b) Electric heating coil

(c) Semi conductor diode

(d) Rheostat
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Which one of the following devices is
non-ohmic ?

(a) Conducting copper coil
(b) Electric heating coil

(c) Semi conductor diode

(d) Rheostat

Answer: (C)
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Which one of the following can charge
an insulator ?

(a) Current electricity
=
(b) Static clectricity /

(¢) Magnetic field 7 Ny HIoN
-]
(d) Gravitational field Imufafbr

— Groundm d l
(fo eorth) (fafve

([’ electicify
Ch ay u{ ) V

-l'




NDA & CDS 1 2025 - REVISION - PHYSICS

EXAMS

Which one of the following can charge
an insulator ?

(a) Current electricity
(b) Static clectricity
(¢) Magnetic field

(d) Gravitational field

Answer: (B)
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A current of 1:0 A is drawn by a filament of an
electric bulb for 10 minutes. The amount of

electric charge that flows through the circuit is

(a) 01C

b 10C (Q? d’”ﬂ‘ = aarenf (2)
(©  600C (t) Time
@ 800C

§ = It
= [0 X (Io xéos)

-
—
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A current of 1-0 A is drawn by a filament of an
electric bulb for 10 minutes. The amount of
electric charge that flows through the circuit is

(a) 01C

(b) 10C
(c) 600C
(d) 800C

Answer: (C)
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Which one of the following correctly

represents the SI unit of resistivity?

(@) Q

(b) Q/m

(c) Qcm

(d) Qm

/‘f’)

R = f__j_
k/m').

~

N s nt

e

o)

\

L m
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Which one of the following correctly
represents the SI unit of resistivity?

(a) Q
(b) Q/m
(c) Qcm

(d) Qm

Answer: (D)
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EXAMS

Which one of the following formulas does not

represent electrical power ?

(@) I°R P
(b) IR’

(c) VI

\l
-
T
)

W

|
r

)

@ V%/R
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EXAMS

Which one of the following formulas does not
represent electrical power ?

(@ I’R
b IR
() VI
@ V*/R

Answer: (B)
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An electric circuit is given below. V; =1 V and

Resistance R = 1000 Q.
oA

-V, R

°B
The current through the resistance R is very
close to 1 mA and the voltage across point A
and B, Va5 =1 V. Now the circuit is changed
to:

.\ B
. )
f‘ﬂllc[

cuivent 'ﬂ“’o‘tf’» R =

where wvalue of Vo = 5V, The internal
resistances of both the batteries are 0-1 Q.
The current through the resistance R 1is

about :
(a) 1-0 mA
(b) 1-2mA
(¢c) 30mA
(d) 50mA
y — M
|/ VL
1 4 2
+ =
- 0/ 0‘/ =

I Y T R
IDOO
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==

EXAMS

An electric ci it is o bel V. =1V and where wvalue of V, = 5V. The internal
?Ec 16 GICRIL IS @V DO Y1 = an resistances of both the batteries are 0-1 Q.
Resistance R = 1000 <. The current through the resistance R is
OA about :
R (a) 1-0 mA
T " (b) 1-2mA
OB (¢) 30mA

The current through the resistance R is very (d) 50mA
close to 1 mA and the voltage across point A

and B, Va5 =1 V. Now the circuit is changed

to:

CA

°B

ANS : C
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An electric wire of resistance 50 ohm is cut into five equal wires. These

wires are then connected in parallel. What is the equivalent resistance

R:#_:?le

of this combination ?

A. 2 ohms A
B. 10 ohms
_iQ_ - foAL
C. 0.5o0hms 5
D. 5ohms

ezufwa/enf vel/tfance = _I0 .-:,
5
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An electric wire of resistance 50 ohm is cut into five equal wires. These
wires are then connected in parallel. What is the equivalent resistance

of this combination ?

A. 2ohms
B. 10ohms
C. 0.5o0hms

D. 5ohms
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An electric bulb is connected to 220 V generator. The current

drawn is 600 mA. What is the power of the bulb ?

A.

B.

C.

132 W
p =V
13.2 W
1320 W :(440 l/} X (600 Alo-3 U
13200 W
- dd X6 = 13201

\J—J—*‘/
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An electric bulb is connected to 220 V generator. The current

drawn is 600 mA. What is the power of the bulb ?

A. 132 W
B. 13.2W
C. 1320W

D. 13200 W
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Which statements are correct about a wire's electrical resistance and

resistivity ?

A.

B
C.
D

1.
2.
3.

Both quantities depend on the area of cross-section of the wire. 4
Both depend on the temperature. v’

Resistance of the wire is directly proportional to the resistivity of
the wire..”

. Resistivity of the wire is directly proportional to the length of the

wire. x :?esiffa NCe (Rl *ui_cffvff,y [IPL
Select the correct option : [ V
1and 2 [“(fﬂ’ Temfcrafure.
2 only Area of cro$s Secfion A Nature of maferief
2 and 3 only r{
None of these Cmffrafu"’
ReeicH vl
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Which statements are correct about a wire's electrical resistance and
resistivity ?
1. Both quantities depend on the area of cross-section of the wire.
2. Both depend on the temperature.

3. Resistance of the wire is directly proportional to the resistivity of
the wire.

4. Resistivity of the wire is directly proportional to the length of the
wire.

Select the correct option :
A. 1land?2

B. 2only

C. 2and3only

D. None of these
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Two metaliic wires A and B are made using copper. The radius of wire A
is r while its length is |. A dc voltage V is applied across the wire A,
causing power dissipation P. The radius of wire B is 2r and its length is 2|

and the same dc voltage V is applied across it causing power

2
dissipation P,. Which of the following is the correct relationship L - —%—
between Pand P, ? A
. bwer = Vof?'ﬂ}fe)l / &
A. P=2P v e
: Resictance gy
B. P=P,/2 . P |
_ R = 4! s
C. P=4p, - p’ R q
D. P=P, r
R, _ Ap = P/

= (20 - apt :_L/#_) (

ol av)? b T
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Two metaliic wires A and B are made using copper. The radius of wire A
is r while its length is |. A dc voltage V is applied across the wire A,
causing power dissipation P. The radius of wire B is 2r and its length is 2|
and the same dc voltage V is applied across it causing power
dissipation P,. Which of the following is the correct relationship
between P and P, ?

A. P=2P,
B. P=P,/2
C. P=4pP,

D. P=P,
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The graphs between current (I) and Voltage (V) for three linear resistors
1, 2, and 3 are given below :

If R1, R2 and R3 are the resistances of these resistors , then which one

of the following is correct ?

£ = _V
A
A. R1>R2>R3 o1 I
|'./
B. R1<R3<R2 .3 for Same I,
 { K .*
e o’
o _2
C. R3<R1<R2 e (fma‘l‘er Y :Jmm g
D. R3>R2>R1 e bl —— >
:
/AR

VI(V3<VL 7 RI<R3 <k,
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The graphs between current (I) and Voltage (V) for three linear resistors
1, 2, and 3 are given below :
If R1, R2 and R3 are the resistances of these resistors , then which one

of the following is correct ?

A. R1>R2>R3 4 1
1"/..

B. R1<R3<R2 .3

' 4 Plg

o/ ‘J'"
C. R3<R1<R2 A -
LT

D. R3>R2>Rl1 L= >
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Water is heated with a coil of resistance R connected to the domestic

supply. The rise of the temperature of water will depend on

1. Supply Voltage. —
PRly Yoltas Heaf /5?0 duced
2. Current passing through the coil. g
3. Time for which voltage is supplied. Joule s lan o Heaffn ,

Which statements are correct ?

A. 1,2and3

B. 1and2only

C. 1only

D. 2and3only
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Water is heated with a coil of resistance R connected to the domestic

supply. The rise of the temperature of water will depend on
1. Supply Voltage.

2. Current passing through the coil.
3. Time for which voltage is supplied.
Which statements are correct ?

A. 1,2and3
B. 1and2only
C. 1only

D. 2and3only
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Which of the following statements correctly explains/explain the existence of a positive
force between two electric charges?
1. Both the charges are positive.\/ F= Z, ﬁ

2. Both the charges are negative..”” ,

r
3. Both the charges are oppositely charged.
Select the correct option : — [ .
A. 1only F70 ::7 Z/ Z?— 70 2 F if rffu/fllfb
B. 2only

F<o > 019, <0 = F s affacive.

C. l1land2only
D. 1,2and3
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®

Which of the following statements correctly explains/explain the existence of a positive
force between two electric charges?

1. Both the charges are positive.

2. Both the charges are negative.

3. Both the charges are oppositely charged.

Select the correct option :

A. 1only

B. 2only

C. 1and2only
D. 1,2and3



A.

D.

NDA & CDS 1 2025 - REVISION - PHYSICS

A fuse wire must be

conducting and of low melting point
conducting and of high melting point
insulator and of high melting point

insulator and of low melting point




D.

NDA & CDS 1 2025 - REVISION - PHYSICS

A fuse wire must be

conducting and of low melting point
conducting and of high melting point
insulator and of high melting point

insulator and of low melting point
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‘The sum of emf’s and potential differences around a closed loop

equals zero’ is a consequence of

A. Ohm's Law

B. Conservation of charge

C. Conservation of momentum
D

Conservation of energy
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‘The sum of emf’s and potential differences around a closed loop

equals zero’ is a consequence of

A. Ohm's Law

B. Conservation of charge

C. Conservation of momentum
D

Conservation of energy
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Which one of the following graphs correctly represents the current (l) -

voltage (V) variation for a rectangular piece of a semiconductor wafer ?

(a) (c) I
® @) 1

N N




NDA & CDS 1 2025 - REVISION - PHYSICS

Which one of the following graphs correctly represents the current (l) -

voltage (V) variation for a rectangular piece of a semiconductor wafer ?

(a) 1 (c) I

u/ v ; J v
® (d) 1

0 vV nk_v

ANS : C



NDA & CDS 1 2025 - REVISION - PHYSICS

When the short circuit condition occurs, the current in the circuit
A. becomes zero

B. remains constant

C. increases substantially

D. keeps on changing randomly
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When the short circuit condition occurs, the current in the circuit
A. becomes zero

B. remains constant

C. increases substantially

D. keeps on changing randomly
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A given conductor carrying a
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current through the conductor is
doubled the amount of heat
produced will be

(7) 2000 J (b) 4000 J

(c) 8000 J (d) 1000 J
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A given conductor carrying a
current of 1 ampere. It produces an
amount of heat equal to 2000 J. The
current through the conductor is
doubled the amount of heat

produced will be
(a) 2000 J (b) 4000 J
(c) 8000 J (d) 1000 J

ANS : C
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The main power supply in India 1s
at 220 V, whereas that in the US
1s at 110 V. Which one among the
following statements i1n this
regard 1s correct?

(a) 110 V is safer but more expensive
to maintain.

(b) 110 V is safer and cheaper to
rmaintain.

(c}) 110 V leads to lower power loss.

(d) 110 V works better at higher
latitudes.
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The main power supply in India 1s
at 220 V, whereas that in the US
1s at 110 V. Which one among the
following statements i1n this
regard 1s correct?

(a) 110 V is safer but more expensive
to maintain.

(b) 110 V is safer and cheaper to
rmaintain.

(c}) 110 V leads to lower power loss.

(d) 110 V works better at higher
latitudes.

ANS : A
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electricity for domestic purpose 1s
done in the form of

a) 220V, 50 Hz
b) 110V, 60 Hz
c) 220V, 60 Hz

(
E
(d) 110 V, 50 Hz

ANS : A
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Which one among the following
1s the correct order of power
consumption for light of equal
intensity?

(a) CFL Tube < Fluorescent Tube <
Incandescent Bulb < Light
Emitting Diode

(b) Light Emitting Diode < CFL Tube
=< Fluorescent Tube <
Incandescent Bulb

(c) CFL Tube < Fluorescent Tube <
Light Emitting Diode <
Incandescent Bulb

(d) Incandescent Bulb < Light
Emitting Diode < Fluorescent
Tube = CFL Tube
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Which one among the following
1s the correct order of power
consumption for light of equal
intensity?

(a) CFL Tube < Fluorescent Tube <
Incandescent Bulb < Light
Emitting Diode

(b) Light Emitting Diode < CFL Tube
=< Fluorescent Tube <
Incandescent Bulb

(c) CFL Tube < Fluorescent Tube <
Light Emitting Diode <
Incandescent Bulb

(d) Incandescent Bulb < Light
Emitting Diode < Fluorescent
Tube = CFL Tube

ANS : B



NDA & CDS 1 2025 - REVISION - PHYSICS

When an electrical safety fuse 1s

rated (marked) as 16 A, 1t means

1t

(a) will not work, if current is less
than 16 A

(b) has a resistance of 16 Q

(c) will work If the temperature is
more than 16°C

(d) will be blown (break) If current
exceeds 16 A
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When an electrical safety fuse 1s

rated (marked) as 16 A, 1t means

1t

(a) will not work, if current is less
than 16 A

(b) has a resistance of 16 Q

(c) will work If the temperature is
more than 16°C

(d) will be blown (break) If current
exceeds 16 A

ANS :D
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ammeter respectively?
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. Which one among the following
1s the true representation of
(1) variable DC potential
(1) rheostat and (111) AC
ammeter respectively?

() () 1 (b) (1) I

ANS : C
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The current flowing through each
of the resistors connected in the

above circuit is

a3 L
L 5 .1r
|[|= £y
| v/
6V K

@2A (B)1A (9A (d)4A

ANS : A
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(d) Both current and voltage
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Ohm’s law defines

(a) a resistance
(b) current only
(c) voltage only
(d) Both current and voltage

ANS :D
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A current I flows through a
potential difference Vin an
electrical circuit containing a

resistance R. The product of V and
I, 1.e. VI may be understood as

(a) resistance R o

(b) heat generated by the circuit

(c) thermal power radiated by the circult
(d) rate of change of resistance
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A current I flows through a
potential difference Vin an
electrical circuit containing a

resistance R. The product of V and
I, 1.e. VI may be understood as

(a) resistance R o
b) heat generated by the circuit

(b)
(c) thermal power radiated by the circult
(d) rate of change of resistance

ANS : C
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(d) non-conservation of momentum of
the flowing charges

==



NDA & CDS 1 2025 - REVISION - PHYSICS

Ohm's law can also be taken as a
statement for

(a) conservation of energy

(b) conservation of electric charge

(c) conservation of angular momentum

(d) non-conservation of momentum of
the flowing charges

ANS : A
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voltmeter Vin the cireuit given
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(@) 1.5V (b)0.6BYV (1V (d)2V
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What should be the reading of the
voltmeter Vin the cireuit given
above? (All the resistances are equal
to 1 Q and the batteryis of 1.5 V)

(@) 1.5V (b)0.6BYV (1V (d)2V

ANS : C
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When you walk on a woolen carpet
and bring your finger near the
metallic handle of a door, an
electric shock 1s produced. This 1s
because R

(a) charge is transferred from your
body to the handle

(b) a chemical reaction occurs when
you touch the handle

(c) the temperature of the human body
is higher than that of the handle

(d) the human body and the handle
arrive at thermal equilibrium by the
process
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When you walk on a woolen carpet
and bring your finger near the
metallic handle of a door, an
electric shock 1s produced. This 1s
because R

(a) charge is transferred from your
body to the handle

(b) a chemical reaction occurs when
you touch the handle

(c) the temperature of the human body
is higher than that of the handle

(d) the human body and the handle
arrive at thermal equilibrium by the
process

ANS : A
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(c) is the same for all conductors

(d) varies from conductor-to-conductor
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Three equal resistances when
combined 1n series are equivalent
to 90 Q. Their equivalent

resistance when combined in
parallel will be

(a) 10 © (b) 30 Q
(c) 270 Q (d) 810 Q

ANS : A
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